Name:

Primary 5-a-day

Silver

1st December

5—9

493 + 281

How many vertices does this 3-D shape
have?

Tomas buys 6 large boxes of sweets and 2
small boxes of sweets.

Large
Small

60 sweets

Altogether he bought 410 sweets.

How many sweets are in one small box?

Write the three missing digits to make this
addition correct

3ol
+ (80T

JEE)0E
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Name: Primary 5-a-day Silver

2nd December
7 4
6.1 — 0.7 — — =
8 8
At a Yeovil Town football match, there are
4,137 fans.
Write 4,137 in words
® %=
Match each triangle to the correct name Triangle Name
I; Isosceles
ﬁ Right angled
ﬁ Equilateral
A Scalene
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Name: Primary 5-a-day Silver

3rd December

12 X 12

4 x 100 = 50 X

Write down if each angle is acute, right or
obtuse

Arrange in order, starting with the longest.

19 minutes 600 seconds

Quarter of an hour % day
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Name: Primary 5-a-day

Silver

4th December

8.2 + 0.7 100 x 112
. Arrange the rivers in order, starting with
River Length (km) the longest.
Des Moines 845
Gila 960
Mississippi 3,544
Snake 1,674
How much longer is the Mississippi than
the combined lengths of the two shortest
rivers?
Complete this table by rounding the
Rounded to the
numbers to the nearest ten.
nearest ten
36
82
159
203
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Name: Primary 5-a-day

Silver

5th December

7+2
10 10

711 — 125

Find the size of angle x

25°

1 kilometre = metres
1 metre = centimetres
1 kilogram = grams

Write each number in its correct place on
the diagram.

20 24 30 32

Multiple of 6

Multiple of 8

© Corbettmaths 2017

www.corbettmaths.com



Name: Primary 5-a-day Silver

6th December
— of 36
1 9 4
155
+ 1 3 6
Work out the perimeter of this square 15cm
Jenson ran a race in six and a half
minutes.
Thomas took 48 seconds less time to run
the race.
How many seconds did it take Thomas to
run the race?
What number is marked at A?
I I I .
I | [ | I [
b5 B9 6.3 A
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Name: Primary 5-a-day Silver

7th December

55 %10 8.2—4.3

3
Shade in E of the grid.

Draw an obtuse angle

Abdul has a bag of 50p coins and a bag of
20p coins. Both bags have the same

amount of money in. 50p's 20p's

Abdul has 20 coins in the 20p bag.

How many coins are in the 50p bag?
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Name: Primary 5-a-day Silver /

8th December

— 7X6X5X%X3

The temperature on Monday was 3°C

On Tuesday the temperature was 7°C
colder.

What was the temperature on Tuesday?

Hammer
Screwdriver Screws
&N
£7.50 each £5.79 each £1.30 for
a bag
Beth has £8

She wants to buy a hammer, screwdriver
and 2 bags of screws.

How much more money does she need?

© Corbettmaths 2017 www.corbettmaths.com



Name: Primary 5-a-day

Silver

9th December

ul| =

Foglg
5 5

ul| =

of 24

Three different numbers add up to 40.
The numbers are all even
Each number is less than 20.

Write what the three different numbers
could be

A number in Roman numerals is XXIX

Write XXIX in figures

Tick each angle that is acute
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Name:

Primary 5-a-day Silver

10th December

8,344 — 1,602

8 X 72

from an airport

This table shows information about flights

Flight number| Destination [ Time of Take-off
AYbB56 New York 07:45
TTOO1 Sydney 15:20
M8012 Cairo 16:55
NWT9 Oslo 18:05

How many flights take off between 6am
and 6pm?

o

\
‘ UDUDODUDDUDDUODEDDDOEDU 0 H
_r‘

i =

nnnnnnnn

What is the flight number of the airplane
that takes off at 16:557

Write 25% as a decimal

Write 20% as a fraction
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Name: Primary 5-a-day

Silver

11th December

. f 110
O

1,800 =+ 10

From the list of numbers

7 9 12 21

23 30 35 45

Circle the multiples of 9

Jamie has £87
Anne has £17 more than Jamie
Tom has twice as much money as Anne

How much money do they all have in
total?

) e) (4

Using three of these digits, make the
largest possible three digit number.
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Name: Primary 5-a-day Silver

12th December

3.6+ 1.7+ 1.2 50 X 50 x 10

Write the four missing numbers (%6
N
S

At a tournament there are 7 players in a
team.

There are 64 teams.

How many players are there altogether?
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Name:

Primary 5-a-day

Silver

13th December

647 + 400

414 -9

What is the name of shape B?

At the start of December, there were
3,253 video games in a shop.

During December,
8,846 more video games were delivered
3,500 video games were sold.

How many video games were left in the
shop at the end of December?

Sophia bought 2 apples and 4 bananas for
£3.68.

Apples cost 70p.

How much does one banana cost?

oo
FA27
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Name: Primary 5-a-day Silver

14th December

14.7 - 1.9 5-9

Find the size of angle x

X 70°

At a wedding there are 24 tables.

19 tables seat 6 guests.
The rest of the tables seat 9 guests.

Work out the total number of chairs
needed.

2
Tick two shapes that are 3 shaded g ? %
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Name: Primary 5-a-day

Silver

15th December

11 x 11

0.8+08+08+0.3

Work out the difference between 6,200
and 850

Match the numbers in Roman numerals to
the correct figures.

Roman numerals

XVI

Xl

XIV

VI

Figures

14

16

12
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Name:

Primary 5-a-day Silver ‘j‘/ '

16th December

600 X 7 837 =9

Darcie measures 5 angles o
180 Reflex angle

Match each measurement to the correct

type of angle. 79° Acute angle
90° Straight line
198° Right angle
94" Obtuse angle

Here is part of a train timetable

Southville 07 04
Leek 07 09
Jamestown 07 38
Lincoln 08 01
Gold City 08 39

How long is the journey from Southville to
Lincoln?
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Name: Primary 5-a-day

Silver

17th December

6,500 = 100

888 — 199

On the grid, draw an equilateral triangle

Round 1,231 to the nearest 100

Round 1,231 to the nearest 1,000

Draw any lines of symmetry on this road
sign.
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Name: Primary 5-a-day Silver (
18th December

6,781 + 300 — of 20

y Write down the coordinates of the point B

B

6

5

4-

3_

24

1 A

of 1 2 3 4 5 x

Library

These are the opening times at Coalville

Day

Opening Times

Monday

10am to 2pm

Tuesday to Thursday

9am to 12:30pm

How many hours is the library open on
Monday?

Friday

11:30am to 1pm

How many hours is the library open each
week?
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Name:

Primary 5-a-day

Silver

19th December

51 x 100

6.7 +13.4

Sophia bought 2 apples and 5 bananas for
£2.28.

Bananas cost 38p.

How much does one apple cost?

‘oo
A7

Which three shapes can be fitted together
without overlapping to make a square?

Which shapes have got 1 line of
symmetry?
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Name: Primary 5-a-day Silver

20th December

75.5—-37.9

Nellee)
I
O W

A cinema screen has 23 rows of seats.
In each row there are 20 seats.

How many seats are there in the cinema ’
screen?

Circle the tiles that have the same design
Orla has a rectangular tile with this design | as Orla’s tile
on it

O L ] O
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Name: Primary 5-a-day Silver

21st December

55 % 100 888 + 909

Complete the table

Fraction Decimal Percentage
1
) 0.5
0.75 75%

! %

4 25 (]
The rectangle is drawn on centimeter- 1cm
squared paper. pe—

Find the area of the rectangle

This shape has one acute angle

Tick the acute angle
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Name: Primary 5-a-day Silver ;‘/

22nd December

132 =+ 12 7,090 — 2,222

Plot the coordinates (0,2) and (4, 3) Reflect the shape in the mirror line

6
5

mirror line

Georgie is 40 years old.

7
Her friend Summer is g of her age

How old is Summer?
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Name:

Primary 5-a-day Silver

23rd December

277 + 98 + 690

150 x4 =5 X

Round 686 to the nearest 10

Round 686 to the nearest 100

Key Q

= 2 books

Monday

O O

Tuesday

O 00O

Wednesday

O (

How many books did Tom read
altogether?

Thursday () Q
Put the days in order of temperature,
Monday | Tuesday |Wednesday |Thursday | | Starting with the lowest.
-3°C -1°C -6°C 0°C
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Name:

Primary 5-a-day

Silver

24th December

23 x 100

3,112 — 504

Write the number that is six less than nine
thousand in figures

Cerys chooses a number
She multiples it by 7 and then adds 34.
Her answer is 160

What was the number she started with?

Pittsburgh Steelers won Super Bowl XL

Write XL in figures

7'y

*EEEEEEE WLy

i ¢ Y ¥l
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Name: Primary 5-a-day Silver

25th December

717 — 150 6 X 34

Write down the coordinates of the point B

ABCD is a rectangle. 3

Plot the point D on the grid 2

5 identical pink blocks have a mass of 1kg

Find the mass one pink block
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Name: Primary 5-a-day

Silver

26th December

7 X 12

ST

U] =

A bookshelf in a classroom is 116cm long.

A teacher has 30 maths books, each 4cm
wide.

What is the maximum number of textbooks
that will fit on the shelf?

A square has a perimeter of 44cm

Find the length of one side.

Simon buys 3 drinks.
He pays with a £5 note.
This is his change.

g
p

Work out the cost of 1 drink.
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Name: Primary 5-a-day Silver

27th December

2—7

> f 240
40

Round 39.81 to the nearest whole number

Write the digit that is in the tens place

A right angle is shown

Find the size of the angle x

31°

Miss Jackson has 200 sweets.

She gives 4 sweets each to 10 children
and she gives 3 sweets each to 15
children.

How many sweets does Miss Jackson
have left?

© Corbettmaths 2017

www.corbettmaths.com



Name:

Primary 5-a-day Silver ;‘/

28th December

7.5 — 6.6

48 X 7

I:' have visited

France

A |:| have not visited France

120

100

Number of 80
children 60

40
20

0
Year 5

Year 6

How many year 5 children have not visited
France?

Billy says there are the same number of
children in Year 5 and Year 6.

Is he right?

The total cost for the tour is £648

Work out the cost for 1 person?

A group of 9 friends go on a coach tour.

\bz
== >

2
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Name: Primary 5-a-day Silver

29th December

56 X 4 9%x90 =1000 —

Draw an obtuse angle

The bar chart shows how many adults, 20T

pensioners and children visit a museum. 18

An adult ticket is £5 16 1

A pensioner ticket is 50p

A child ticket is £3 14

. 12

How much money did the museum collect

in total? 10
8
6
4
2 |
0

Adults Pensioners Children
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Name:

Primary 5-a-day Silver

30th December

12 X 12

5|685

Mo Tu We Th Fr

1 2 3
6 7 8 9 10
13 14 15 16 17
20 21 22 23 24
27 28 29 30 31

August

Sa
4
11
18
25

Su

12
19
26

How many Thursdays are there in August?

Saturday.

Jamie runs 3 miles every Monday, 5 miles
every Wednesday and 2 miles every

How far does Jamie run in August?

Draw a scalene triangle
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Name: Primary 5-a-day Silver
31st December
1 1
— 4+ —
7 7
2 9 4
X 7

The numbers in the sequence increase by
the same amount each time.

Find the missing numbers

()38 64 ) 116

Here is a straight line.

Find the missing angle, x.

[ 45°

Write 25% as a fraction

Write 0.75 as a percentage
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